1

2

3

7 8

This Drawing is the property of WILKINSON HI-RISE. It is loaned on the condition that it is not to be reproduced, copied or otherwise disposed for, and is not
to be used in part to furnish information for the making of drawings, prints, or parts there of. the i iti iti
the exclusive ownership in and to the drawings as the property of WILKINSON HI-RISE.

of the

and the

of

-@
—&9
—@9

é

e0®

®®

DESCRIPTION REV. DATE INIT.

FIRST DRAWING

A 4/21/10 AAM

S

A

MATERIAL: ﬂh__”mwmhwm:mm“wﬁ,mm SPECIFIED, Egmzw,MZMmO)__”\_m%M_MZOImm E—rx_szZII_lm_mm
SEE BILL OF 2321 Evans Street
MATERIALS FRACTIONS: +1/32" X £060 Hollywood, FL 33020
ANGULAR:  41° TR oo Tel: 8002313888 fax: 954 342 43 38
FINISH: APPROVALS DATE TITLE:
PAINTED COLOR [ DRAWN AAM 4/21/10 600-C5 COMPACTOR
TURQUOISE CHECKED
APPROVED DWG: COM600-000 [ scue NTS  [swe=r 1 OF 2

6

7 8




1 2 3 5 6 7 8
This Drawing is the property of WILKINSON HI-RISE. It is loaned on the condition that it is not to be reproduced, copied or otherwise disposed for, and is not DESCRIPTION REV. DATE INIT.
to be use part to furnish information for the making of drawings, prints, or parts there of. the of the i i and the of
the mx:o_:mzm oi:mqm—__.__w in mﬁa Mjﬁ% qusﬂ_smmq“m L_:movqoqu”\_ m_: <<__.:h_zmnwz I_._»_wm. " FIRST DRAWING A 4/21/10 AAM
BILL OF MATERIAL BILL OF MATERIAL
BV gy DWG NO. SHEET DESCRIPTION COMMENTS V| gy, DWG NO. SHEET DESCRIPTION COMMENTS
NO. NO. NO. NO.
1 1| COM-600-204 4 BOTTOM PLATE 26 6 | PURCHASED ITEM NUT 3/8 PN: 914530
2 2 COM—-600-205 5 SIDE PLATE 27 1 PURCHASED ITEM ELBOW 8-8, CTX=S | PN:917635
6 CTX-S MALE JIC X MALE
3 1 COM-600-206 6 IMPACT PLATE 28 2 | PURCHASED ITEM PIPF 90 DECREF ADAPTOR PN: 917651
6-8 CTX=S MALE JC X MALE
4 1 COM—-600-207 7 FRONT PLATE 29 3 | PURCHASED ITEM PPE 90 DFCREE ADAPTOR PN: 917653
DOOR SAFETY 8-4 CTX=S MALE JC X MALE .
5 2 COM—-600-208 8 BRACKET 30 1 PURCHASED ITEM PPE 90 DECREE ADAPTOR PN: 917641
1/4 GG-S FEMALE PIPE .
6 2 COM—-600-209 9 DOOR 31 2 | PURCHASED ITEM STRAIGHT ADAPTOR PN: 917618
7 2 COM-600-211 " LATCH KEEPER 32 4 | PURCHASED ITEM WASHER P 1/2 X 1 | PN: 914306
8 1 COM-600-212 12 WIPER BAR 33 1 PURCHASED ITEM PULL HANDLE PN: 915017
9 1 COM-600-213 13 BACK COVER PLATE 34 4 | PURCHASED ITEM HEAVY DUTY HINGE PN: 917509
SLAM LATCH 2-7/8 L X' 2
10 2 COM—-600-214 14 DOOR STOP 35 2 | PURCHASED ITEM X 1/2 CONPACT C-350.400 PN: 917505
" 2 COM-600-215 15 PHOTO EYE COVER 36 1 PURCHASED ITEM CLEVICE PIN 1 X 4 PN: 917699
12 1 COM-600-216 16 BACK CHANNEL 37 2 | PURCHASED ITEM HOSE %"
13 1 COM-600-217 17 BREAKER BAR
RATCHET BRACKET
14 2 COM—-600-218 18 ANGLE *SEE NOTE 1*
15 4 COM-600-219 19 IMPACT SUPPORT
16 2 COM—-600-220 20 RAM GUIDE
17 1 COM—-600-300 REAR PLATE ASSY
18 1 COM—-600-400 RAM ASSY
19 1 COM—-600-500 LEG ASSY
20 4 COM-600-100 LATCH ASSY *SEE NOTE 1*
PN: 917502
21 1 PURCHASED ITEM RATCHET BINDER +SEE NOTE 1*
22 1 PURCHASED ITEM CYLINDER K-600 PN: 917501
23 12 | PURCHASED ITEM SCREW 1/4 X 1/2 PN: 914127
24 8 | PURCHASED ITEM SCREW 3/8 X 1 PN: 917636
25 | 6 |PURCHASED ITEM FLAT WASHER 3/8 | o). 917593
GALV.
MATERIAL: ﬂhwmwwvwm:mm“wé,mm SPECIFIED, DIMENSIONS ARE IN INCHES E—_lx_szZ|I_|x_mm
SEE BILL OF oA 2321 Evans Street
. FRACTIONS: +1/32" " - Hollywood, FL 33020
NOTES: MATERIALS ANGULAR:  #1° TR oo Tel: 800 231 3888 fax: 954 342 43 38
1. USE LATCH LINK (ITEM# 20) OR RATCHET BINDER — — — —
(ITEM# 21, 14 ) ACCORDING TO CUSTOMER REQUEST. PAINTED COLOR | A 72100 600-C5 COMPACTOR
TURQUOISE CHECKED
APPROVED DWG: COM-600-000 [ sone NTS  [swer 2 OF 2
1 _ 2 3 5 6 7 8




1 2 3 4 5 6 7 8
This Drawing is the property of WILKINSON HI-RISE. It is loaned on the condition that it is not to be reproduced, copied or otherwise disposed for, and is not DESCRIPTION REV. DATE INIT.
to be used in part to ful information for the making of drawings, prints, or parts there for. The acceptance of the foregoing conditions and the recognition of
the exclusive ownership in and to the drawings as the property of WILKINSON HI-RISE. FIRST DRAWING A 4/21/10 | AAM
31.00
| | 30.50 |
54.0 13.62 A
o
-
0.75 @
_IM.OO .Io.mm _
8 f
< f
jac] f
v
I 40 — £
N
& = P
o
<
o
© R
° - | L
o
0
<
I 17.625 ~
7 N
a [S] Sl @ N \
- < i
A —
SEE DETAIL A
1S 2 ON SHEET #2
3 s ~5.00— 19.00
© _ ®
N > e}
GMAW |®/ g ©
@
W_ = J W
o
©
o
5 SEE DETAIL B
_ ON wImm._.#N\\:/
J— - Uy { o\
— ) !
L_V
o
<
nﬂu
| s | A |
=——6.00 T 43.00 T 6.00 5.00— | 27.00 ]
I 35.00 1
72.00 40125
SIDE VIEW FRONT VIEW
MATERIAL: ﬂunmwm%mmmxémm SPECIFIED, EngmﬂzMM__H%_“Moxmm WILKINSON-HI-RISE
SEE BILL OF . X £060 2321 Evans Street
MATERIALS FRACTIONS: +1/16' ”XX »..cbo Io_._<<<ooa< FL 33020 .
ANGULAR: +1° XXX £.020 Tel: 800 231 3888 fax: 954 342 43 38
FINISH: APPROVALS DATE TITLE:
PAINTED COLOR | DRAWN AAM 4/21/10 600-C5 COMPACTOR, PLAN VIEWS
TURQUOISE CHECKED
APPROVED DWG: COM-600-201 [ sone NTS _ [s=r 1 OF 20
1 2 3 4 5 6 7 _ 8




1 2 3 4 5 6 7 8

This Drawing is the property of WILKINSON HI-RISE. It is loaned on the condition that it is not to be reproduced, copied or otherwise disposed for, and is not DESCRIPTION REV. DATE INIT.
to be used in part to furnish information for the making of drawings, prints, or parts there for. The acceptance of the foregoing conditions and the recognition of
the exclusive ownership in and to the drawings as the property of WILKINSON HI-RISE. FIRST DRAWING A 4/21/10 AAM

3
‘ I3
\ ) ,T _ . g ——0375
30.91 1 6.00 — \ 27.75
Gmaw T ,
) {z_z\,\
~ B
N GMAW 3
mmad ~ ° @
Ta125T 31.375 \\IAleg»é
3.25- Q Q
1.50—~
—l 6.00 [— l_llllm.mm
66.00

SECTION A-A ISOMETRIC VIEW

MATERIAL: UNLESS OTHERWISE SPECIFIED, DIMENSIONS ARE IN INCHES
oo WILKINSON-HI-RISE
SEE BILL OF X 060 2321 Evans Street
MATERIALS FRACTIONS: +1/32" .xx w.c&c Hollywood, FL 33020
: = Tel: 800 231 3888 fax: 954 342 43 38

ANGULAR:  #1° YXX £020
FINISH: APPROVALS DATE TITLE:
PAINTED COLOR | DRAWN AAM 4/21/10 600-C5 COMPACTOR, PLAN VIEWS
TURQUOISE CHECKED
APPROVED DWG: COM-600203 | scas NTS — [swer 3 OF 20

1 2 3 4 5 6 7 _ 8




